EARAROBEEIERT — 2 N— IBISH —F

201758H130 (B) 2EB/M\E6H

R R A S e A

‘ [R1%] & ‘ [REBE] — | & (&) 17000 B

[A~&£] 17 5,000,000  ~ 23 :2,000,000H 37 :1,300,000

/47 1750,000 F 5 7& 500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— N o3 | AR 1:47.9 2-32-2 | 39.7| 87.1 | 3 468 | EHMFE (ER)
18|16 7INT 1 AH AR 56.0 =) oy | 0B) AR
RN—=5—=29 7 B:T7HYHTT14v b ficEitae)
S 4 3 | FREAH 1:48.1 1-1-1-1 [ 40.1| 85.7 | 5 524 | ROER] (FF)
olglis| ¥ 1 ¥amoaz 4530 ) e | A
R:814%Yv ML B:L—>5C4 b I ARPS
L HE S5 4 3 | AEEZ 1:48.6 5-4-5-4 | 40.1| 81.5 | 1 496 | HFER (RE)
3|2 7>¥E—-FT 56.0 3) ) |WAET
R:fv—N—K B:7 4-TU&X [re-rie]
N N 4 3 | REHE :48.6 12-12-11-8 | 39.4 | 81.1 | 6 492 | THEEZ (EX)
s 3| *T¥av>In £54.0 (") (1g) | A
R:ZZATLAR BiACTauLy R =AE BC
O RILKS # o3 | K2 :48.6 8-8-4-2 |40.3| 81.6 | 2 498 | KARES (ER)
5 5Ly FILKZ 56.0 (NF) g |, 08 ERA-AL -V
g4 hT7—=EY B:7O0-UFvy b HET77— L
\ 2 N 4 3 | HALBAF 1:48.6 9-9-8-8 |39.6| 81.2 | 12 | 504 |SHE— (RR)
6lp13| YV =>-7Lvk 5.0 (n#) o) | AEX
LNnN=Y954 B:>—JLvy bha—-F HE77—L
o= . 3 | AZEN 1:49.3 12-13-8-6 | 40.3 | 75.8 | 11 434 | BRI ()
7159 |¥aTa17 > e 5.0 (4) 1 (+0) | W) /—Zenx
T4 7 hNT—EY BT Vv aY HRXEHE /-
— en P INEEHER : ~10-6- RIRE (FBXR)
X058 £ 3 s 1(;?:) 11-10-6-6 | 40.6 | 75.3 | 15 zgg) ey
L:EATATv— BNTET J=HTy—LI
. e e e =25 . 15-13- S8
Fr7-rK31v#> [B] #3 | ZRa®s 1(.34/%5 15-15-13-11 40.1 | 74.0 | 14 (i?:) Eﬁé%ﬁ)
LZAFAT—ILK BFrT—Kvz =iE A
# 3 | AlRH 1:49.9 9-10-14-13 | 40.2 | 70.8 | 9 482 | BIETF (ER)
ZR)—FZX¥—t 55.0 @ 1/2) (g |
27— hR—a BATXL—> g5 Rig
. . t 3 | EPE 1:49.9 2-2-2-4 |M.7| 725 | 7 520 |BE (BH)
e/ =T8> * 56.0 (NF) +10) ey
R:wNyBg>h71 BENFI—F E# AR
S A # 3 | BERX 1:51.0 12-13-14-14| 41.3 | 63.4 | 16 | 470 |BREAME= (3RR)
FLTX—Y 56.0 ” (o) | BLHEE
RA=—JXA 2214 B:b—t>TNT17T eV 17 7—L4L
S T t 3 | BHF 1:51.4 7-6-6-8 | 42.6| 62.3 | 4 520 |BEEE#R (RR)
D2 el (A ¢ g 56.0_7_ D) (C12) | H Ho Yz A7 - ENAR
RARMY—bESX B:Tuvahyi— H—L— - TvIN> - Ty — LERE
. H o3 | hABA 1:51.4 4-4-10-12 | 42.3 | 61.8 | 8 | 518 |HIERE (RR)
140111 H>7F4 ~ [B] 56.0 (7 4%) +10) ﬁ#éﬁ
L:viNnygrh7r B:T7YU— TATHS
s 3 | BRR 1:52.9 16-16-16-16| 40.8 | 47.3 | 13 | 448 |#IILEA (FH)
15 7 oo T7HE 56.0 9) (-6) | @) ¥ h—
XD ThANAN BTG Z—T—h ke
. =y # 3 | R 1:53.2 5-6-11-15 | 44.0 | 51.8 | 10 | 468 |REEX (FH)
16 11| 7v F27 v 7 [B] 56.0 (1 1/2) (+10) :F)#—?ﬁ
R g hT—IEY BiYS hA =E2ie]
@ 71 L
) 52.3-39.9
NA>ZA L |7.2-11.0-11.9-12.7-12.8-12.4-12.7-13.5-13.7
® I —F—@EBIERL
13=3r= 15(12,16)1(2,11)10,5(13,14)8(3,6,9)4=7
2= = 15,12,16(1,2) (10,11)5-13(8,14)3(6,9) 4=7
Gol=5r= 15(12,16)5,2(10,8) (13,9)1(3,11)4-(6,14)=7
43—+— | 15(16,5) (12,2)-(8,9) (13,10,3)-4,1,14,6,11=7
[ N3
B O 16 560M 714K 15-16 1,290H e E 8-8 4,610MH JEHE 2-15-16 2,870
8 B 16 170 2-16 350M B = 15-16 4,840M B 16-15-2 22,810
15 260M 2-15 530 B H 16-15 8,550
2 120/

ABICOVWTRDTEEERROODE. TR LIV,




